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Q2: what is job order costing? Explain with example.

ANS; Job order costing;

Is generally used by companies that manufacture a number of different
products. It is a widely used costing system in manufacturing as well as
service industries.

Manufacturing companies using job order costing system usually receive
orders for customized products and services. These customized orders are
known as jobs or groups. A clothing factory, for example, may receive an
order for men shirts with particular size, color, and design.

When companies accept orders or jobs for different products, the
assignment of cost to products becomes a problematic task. In these
situations, the cost record for each individual job is kept because each job
have a different product and, therefore, different cost related with it.

The per unit cost of a particular job is computed by dividing the total cost
allocated to that job by the number of units in the job. The per unit cost
formula is given below:

Per unit cost = Total cost applicable to job / Number of units in the job

Examples of manufacturing businesses that use job order costing
system consist of clothing factories, food companies, air craft
manufacturing companies etc.

Examples of service businesses that use job order costing system
consist of movie producers, accounting firms, law firms, hospitals
etc.



Q3: Briefly define LIFO and FIFO? Explain with examples;
ANS;

FIFO and LIFO are methods used in the cost of goods sold calculation.
FIFO (First-In, First-Out) assumes that the oldest products in a company’s
Inventory has been sold first and goes by those production costs. The
LIFO (Last-In, First-Out) method assumes that the most recent products

In a company’s inventory have been sold first and uses those costs
instead.

FIFO and LIFO Examples

We are going to use one company as an example to determine calculating the cost of
goods sold with both FIFO and LIFO methods.

Ted’s Televisions is a business in New York City. Ted has been in operation now for a
year. This is what his inventory costs look like:

Month Amount Price Paid

January 100 Units $800.00
February 100 Units $800.00
March 100 Units $825.00
April 100 Units $825.00
May 100 Units $825.00
June 100 Units $850.00
July 100 Units $850.00
August 150 Units $875.00
September 150 Units $875.00
October 150 Units $900.00
November 150 Units $900.00
December 150 Units $900.00

1450 units acquired.
Units = Televisions.



As you can see, the unit price of televisions gradually increased. Assuming Ted kept his
sales prices the same (which he did, in order to stay competitive) this means there was
less profit for Ted’s Televisions by the end of the year.

For the year, the number of televisions sold was 1100.
Let’s calculate cost of goods sold using the:

FIFO METHOD

Going by the FIFO method, Ted needs to use the older costs of obtaining his inventory
and work ahead from there.

So Ted’s COGS calculation is as follows:

200 units x $800 = $160,000
300 units x $825 = $247,500
200 units x $850 = $170,000
300 units x $875 = $262,500
100 units x $900 = $90,000

Ted’s cost of goods sold is $930,000.

LIFO method

Going by the LIFO method, Ted needs to go by his most new inventory costs first and
work in reverse from there.

450 units x 900 = $405,000
300 units x 875 = $262,500
200 units x 850 = $170,000
150 units x $825 = $125,750

Ted’s cost of goods sold is $961,250.
You can see how for Ted, the LIFO method may be more smart than FIFO. This is
because the LIFO number reveals a higher inventory cost, meaning less profit and less

taxes to pay at tax time.

The LIFO reserve in this example is $31,250. The LIFO reserve is the amount by which
a company’s taxable income has been postponed, as compared to the FIFO method.

The remaining unsold 350 televisions will be accounted for in “inventory”.






